
July 2024 Road Trip Puzzle Set – Solutions 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

The 20 chips correspond to the 20 letters in the phrase “P-L-I-N-K-

O-P-L-I-N-K-O-G-O-G-O-C-H-I-P-G-O.”  Using binary code on these  

letters tells us which way each chip will bounce off of each peg as it cascades down the board: “none left” 

and “one right” tells us that 0 = a bounce to the left and 1 = a bounce to the right. 

Thus, the first chip down the board is P = 10000 = right-left-left-left-left. This is shown by the path on the 

board above, and the first chip will then land on the letter “L.” Chip #2 = L = 00101 = left-left-right-left-right, 

which lands on an “A.”   This continues for all 20 chips, stacking up in their columns. [The letters that don’t 

get covered spell out “JUST SPACE FILLERS,” to confirm that they are not needed for the solve.] The letters 

that do get covered spell out (in the order they get covered) LAST LETTER IN EACH LINE.  Reading top to 

bottom, the last letter in each line of the flavor text gives the solution: FALL WHERE THEY MAY 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

The puzzle becomes a maze with bridges. The path you take must alternate under-over-under-over… no two 

overs in a row, no two unders in a row. The unique path is shown above. The places where the path crosses 

itself, going under and over the same bridge have been circled, and the numbers represent the order in 

which the second crossings occurred.  They spell out the solution: WHEN WE COME TO IT 



 

 

 

 

 

 

Routes & Ladders 
The lines show which words on the left can be connected with 

which words on the right. The uncrossed letters between the 

lines can be read left to right:  “READ EACH   LINE IN    THE    

ORDER   IN   WHICH   THE   LETTERS   WERE   CHANGED” 

The top line connecting BEAST to LATCH  is  U-N-O-E-S but 

when read in the order in which the letters were changed for 

that ladder (1,5,4,3,2) read “U-S-E-O-N.”  The next line’s letters 

read this way are “L-Y-T-H-E.”  Putting these all together: 

“USE ONLY THE THIRD CHANGED LETTER IN EACH SERIES.”  The 

third changed letters in each series spells out the solution: 

SWAP MEET. 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

First, solve the logic puzzle that the little hustler came up with. It gives the order of shot and which pocket each ball lands in shown in the chart above 

right. Red flag hints that semaphore is involved. The path the cue ball takes to the numbered ball together with the path the numbered ball takes to 

the pocket makes for (hopefully) recognizable semaphore symbols. For example, the first shot to sink the 2-ball is shown in dash lines above:      and 

that comes pretty close to a semaphore N. The next shot to sink the 6-ball:    which comes fairly close to a semaphore E.  When these nine semaphore 

letters are read in the order of the pool ball numbers (counting 1-9), it spells out the solution: SNOOKERED 


